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Adding and Subtracting 10s and 100s Name:
Fill in the blanksfor each problem.
604 + 10 = 378-10= 797 + 100 = 955 - 100 =
125+ 10 = 490-10= 352+ 100 = 425 -100 =
178+ 10= 441 -10= 792+ 100 = 550 - 100 =
639 + 10 = 804 -10= 784+ 100 = 685 - 100 =
260 + 10 = 173-10= 505 + 100 = 562 - 100 =
364+ 10= 592-10= 681 + 100 = 402 - 100 =
785+ 10 = 768 - 10 = 291 + 100 = 275-100=
529 + 10 = 810-10= 284 + 100 = 958 - 100 =
137 +10= 433-10= 369 + 100 = 708 - 100 =
372+10= 971-10= 463 + 100 = 111-100 =
79+10=_ 867 -10= 345 + 100 = 105-100=_
240+ 10 = 991-10= 127 + 100 = 857 - 100 =
535+ 10= 26-10= 687 + 100 = 600 - 100 =
93+10= 950-10= 179 + 100 = 952 - 100 =
520 + 10 = 158-10 = 307 + 100 = 761 - 100 =
665 + 10 = 680-10= 285+ 100 = 720- 100 =
613+ 10 = 537-10= 504 + 100 = 909 - 100 =
340+ 10= 925-10= 454 + 100 = 135- 100 =
367 +10= 751-10= 776 + 100 = 900 - 100 =
115+ 10 = 801-10= 897 + 100 = 904 - 100 =
439+ 10= 409-10= 590 + 100 = 880 - 100 =
842 + 10 = 432-10= 10 + 100 = 412 -100=
791+ 10= 536- 10 = 522 + 100 = 362 - 100 =
894+ 10 = 938-10= 603 + 100 = 949 - 100 =
931+10= 266-10= 809 + 100 = 471-100 =
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Adding and Subtracting 10s and 100s Name: Answer Key
Fill in the blanksfor each problem.
604+10= 614 378-10= 368 797 +100= 897 955-100= 855
125+10= 135 490-10= 480 352+100= 452 425-100= 325
178 +10= 188 441-10= 431 792+100=_ 892 550-100= 450
639+10=_ 649 804-10=_ 794 784+100= 884 685-100= 585
260+10=_ 270 173-10=_ 163 505+ 100= 605 562-100= 462
364+10= 374 592-10=_ 582 681+100=_ 781 402-100=_ 302
785+10= 795 768-10= 758 291+100= 391 275-100= 175
529+10= 539 810-10=_ 800 284+100= 384 958-100= 858
137+10= 147 433-10= 423 369 +100= 469 708-100= 608
372+10= 382 971-10= 961 463+100= 563 111-100=_ 11
79+10=_ 89 867-10= 857 345+100= 445 105-100= 5
240+10=_ 250 991-10=_ 981 127 +100=_ 227 857-100= 757
535+10= 545 26-10=_ 16 687 +100= 787 600-100= 500
93+10=_ 103 950-10=_ 940 179+100=_ 279 952-100= 852
520+10=_ 530 158-10=_ 148 307+100= 407 761-100= 661
665+10= 675 680-10=_ 670 285+100= 385 720-100=_ 620
613+10= 623 537-10=_ 527 504 +100= 604 909-100=_ 809
340+10= 350 925-10=_ 915 454 +100= 554 135-100=_ 35
367+10= 377 751-10= 741 776 +100= 876 900-100= 800
115+10= 125 801-10=_ 791 897 +100= 997 904-100= 804
439+10= 449 409-10= 399 500 +100= 690 880-100= 780
842+10= 852 432-10= 422 10+100=_ 110 412-100= 312
791+10= 801 536-10= 526 522+100= 622 362-100= 262
894+10=_ 904 938-10=_ 928 603+100= 703 949-100= 849
931+10=_ 941 266-10=_ 256 809 +100=_ 909 471-100= 371
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